# CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

**DEPARTMENT:** Capital Improvement AGENDA DATE: April 13, 2021 **CONTACT PERSON/PHONE:** Sam Rodriguez, Chief Operations and Transportation Officer, Aviation Director and City Engineer, (915) 212-1845 Bruce D. Collins, Purchasing Director, (915) 212-1811 **DISTRICT(S) AFFECTED:** 5 STRATEGIC GOAL: NO. 4 Enhance El Paso's Quality of Life through Recreational, Cultural and Educational Environments The linkage to the Strategic Plan is subsection 4.2 – Create innovative recreational, educational and cultural programs. **SUBJECT:** Discussion and action on the award of solicitation 2021-0793 Dick Shinaut and Salvador Rivas Park Improvements to PRIDE GENERAL CONTRACTORS, LLC for an estimated award of \$856,548.15. **BACKGROUND / DISCUSSION:** Dick Shinaut Skatepark Improvements consists of new street plaza skate park and landscape improvements which include but are not limited to: removal and off-site disposal of existing asphalt path, benches, canopy, electrical illumination pole, etc., site clearing and preparation, subgrade preparation, new 6-inch reinforced concrete slab and skate ramps, grinding rails and ledges, concrete steps, new HMAC path with header curb, new 6-inch unreinforced concrete pads for benches, retaining rockwalls, new landscaping trees, mulch, and irrigation system, new illumination fixtures on existing poles with appurtenances, complete in place as shown in the drawings and per technical specifications. Salvador Rivas Park Improvements consist of the removal of existing sidewalk, curb and gutter, site clearing and grading, the preparation of subgrade and installation of new base course, new curb and gutter, new Hot Mix Asphaltic Concrete (HMAC) parking lot, new concrete sidewalk, ADA ramps, and driveways, new landscaping elements such as trees, shrubs, boulders, rock mulch, weed barrier, and irrigation system, new illumination poles and appurtenances, complete in place as shown in the drawings and per the technical specifications. **SELECTION SUMMARY:** Solicitation was advertised on January 26, 2021 and February 2, 2021. The solicitation was posted on the City website on January 26, 2021. The email (Purmail) notification was sent out on January 28, 2021. There were a total of ninety-six (96) viewers. Six (6) bids were received, four (4) from local suppliers. **PROTEST** No protest received for this requirement.

Protest received.

COUNCIL REPRESENTATIVE BRIEFING:
Was a briefing provided? ☐ Yes or ☒ No If yes, select the applicable districts.
District 1 District 2 District 3 District 4 District 5 District 6 District 7 District 8
PRIOR COUNCIL ACTION: N/A
AMOUNT AND SOURCE OF FUNDING:
Amount: \$856,548.15 Source: 2012 Quality of Life Bond Account: 190 - 4800 - 29010 - 580270 - PCP13PRKA05 190 - 4800 - 29010 - 580270 - PCP13PRKA27A
BOARD / COMMISSION ACTION:
N/A
**************************************
DEPARTMENT HEAD:  Sam Rodriguez, Chief Operations and Transportation Officer, Aviation Director and City

Engineer

# COUNCIL PROJECT FORM (Low Bid)

#### 

Please place the following item on the **REGULAR AGENDA** for the Council Meeting of **APRIL 13, 2021**.

STRATEGIC GOAL 4 Enhance El Paso's Quality of Life through Recreational, Cultural and Educational Environments.

The linkage to the Strategic Plan is subsection 4.2 – Create innovative recreational, educational and cultural programs

#### **Award Summary:**

Discussion and action on the award of solicitation 2021-0793 Dick Shinaut and Salvador Rivas Park Improvements to PRIDE GENERAL CONTRACTORS, LLC for an estimated award of \$856,548.15. This contract will provide park improvements as follows:

Dick Shinaut Skate Park Improvements consists of new street plaza skate park, landscape and illumination improvements.

Salvador Rivas Park Improvements consist of the removal of existing sidewalk, curb and gutter, site clearing and grading, the preparation of subgrade and installation of new base course, landscape and illumination improvements.

Department: Capital Improvement

Award to: PRIDE GENERAL CONTRACTORS, LLC

El Paso, TX

Item(s):

Initial Term: 190 Consecutive Calendar Days

Base Bid I: \$479,141.33 Base Bid II: \$377,406.82 Total Estimated Award: \$856,548.15

Account No.: 190 – 4800 – 29010 – 580270 – PCP13PRKA05

190 - 4800 - 29010 - 580270 - PCP13PRKA27A

Funding Source: 2012 Quality of Life Bond

District(s): 5

This is a Low Bid procurement, unit price contract.

The Purchasing & Strategic Sourcing and Capital Improvement Departments recommend award as indicated PRIDE GENERAL CONTRACTORS, LLC lowest responsive and responsible bidder.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As a part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract changes which are necessary for proper execution of the work and carrying out the intent of the project, which are in accordance with applicable law, do not make changes to the prices and are within the appropriate budget.

Bid Tab Summary
2020-0793 Dick Shinaut and Salvador Rivas Park Improvements

Contractor	Base Bid I	Base Bid II	Sum Total Base Bids I & II
Pride General Contractors, LLC	\$ 479,141.33	\$ 377,406.82	\$ 856,548.15
PERIKIN Enterprises, LLC	\$ 541,226.82	\$ 583,269.38	\$ 1,124,496.20
Gracen Engineering & Construction, Inc.	\$ 782,253.17	\$ 368,031.89	\$ 1,150,285.06
Black Stallion Contractors, Inc.	\$ 773,780.68	\$ 430,635.81	\$ 1,204,416.49
Noble General Contractors, LLC	\$ 959,684.75	\$ 347,977.22	\$ 1,307,661.97
HAWK Construction	\$ 813,731.51	\$ 555,322.58	\$ 1,369,054.09





BID NO: 2021-0793

BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

BID DA	ATE: FEBRU	ARY 24, 2	2021				DEPA	RTMENT: CAPITA	L IMPROVEMENT
				Black Stallion	n Contractors, Inc.		eering & Construction, Inc. HAWK Constr		nstruction
				ELF	Paso, TX	EI P	aso, TX	Horizon	City, TX
				BIDD	ER 1 OF 6	BIDD	ER 2 OF 6	BIDDER 3 OF 6	
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	BID I				
			DEMOLITION OF EXISTING CONCRETE,				\$3,201.60		
1.	13,920	SF	RAMPS, ETC.	\$1.06	\$14,755.20	\$0.23	Contractor's Price: \$3,200.55	\$2.32	\$32,294.40
			CLEAR AND GRUB/SITE				\$21,045.13		
2.	2,927	SY	PREP/EARTHWORK	\$15.90	\$46,539.30	\$7.19	Contractor's Price: \$21,030.94	\$0.72	\$2,107.44
							\$3,805.40		
3.	1,060	SY	SUBGRADE PREPARATION	\$2.70	\$2,862.00	\$3.59	Contractor's Price: \$3,808.13	\$13.99	\$14,829.40
							\$165,020.80		
4.	1,060	SY	NEW 6-INCH REINFORCED CONCRETE	\$146.28	\$155,056.80	\$155.68	Contractor's Price: \$165,018.99	\$157.02	\$166,441.20
_	100	0)(	NEW 6-IN REINFORCED SKATE RAMPS	0.4.4.0.00	<b>*</b> 400.000.00	04.407.56	\$193,999.86		<b>*</b> 404.540.0:
5.	162	CY	COMPLETE IN PLACE	\$1,113.00	\$180,306.00	\$1,197.53	Contractor's Price: \$193,999.10	\$1,200.92	\$194,549.04
6	506	LF	NEW DIANTEDS	¢427.20	¢64.363.30	¢407.79	\$54,536.68	¢60.06	¢24 942 46
6.	506	LF	NEW PLANTERS	\$127.20	\$64,363.20	\$107.78	Contractor's Price: \$54,535.30	\$68.86	\$34,843.16
7.	428	LF	NEW HEADER CURB	\$12.72	\$5.444.16	\$14.37	\$6,150.36	\$20.76	\$8,885.28
<i>'</i> .	420	LF	NEW READER CORD	Φ12.72	φ <del>ο,444</del> .10	φ14.3 <i>1</i>	Contractor's Price: \$6,150.49	· .	φο,οου. <b>∠</b> ο
	100	0)/	NEW LIMA O BATU	<b>#00.40</b>	<b>#0.405.00</b>	<b>#</b> 40.70	\$6,515.20	000.04	#0.00F.00
8.	160	SY	NEW HMAC PATH	\$38.16	\$6,105.60	\$40.72	Contractor's Price: \$6,514.54	\$38.91	\$6,225.60





BID NO: 2021-0793 BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

BID DA	TE: FEBRU	DATE: FEBRUARY 24, 2021  DEPARTMENT: CAPITAL IMPROVEMENT											
				Black Stallion	n Contractors, Inc.	_	ring & Construction, Inc.	HAWK Construction					
				EIF	Paso, TX	EI F	Paso, TX	Horizon City, TX					
				BIDDER 1 OF 6 BIDDER 2 OF 6			ER 2 OF 6	BIDDEF	R 3 OF 6				
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round				
				BASE B	SID I								
		55501	NEW ROCK RETAINING WALL	<b>*</b> 450.00	<b>***</b> 5.40.00	<b>****</b>	\$12,574.20	0.174.00	440 450 00				
9.	60	PERCH	INCLUDING FOOTINGS	\$159.00	\$9,540.00	\$209.57	Contractor's Price: \$12,574.02	\$174.22	\$10,453.20				
40	7	0)/	NEW CONODETE DENOUES	<b>#404.00</b>	#0.000.00	#250.00	\$2,514.82	¢4.740.00	<b>\$40.405.54</b>				
10.	7	CY	NEW CONCRETE BENCHES	\$424.00	\$2,968.00	\$359.26	Contractor's Price: \$2,514.80		\$12,195.54				
44	58	LF	NEW PRINDING DAIL C	Φ4 547 CO	¢00.700.00	Φ4 747 7C	\$101,370.08	\$4.005.40	<b>#00.040.00</b>				
11.	58	LF	NEW BRINDING RAILS	\$1,547.60	\$89,760.80	\$1,747.76	Contractor's Price: \$101,370.33		\$98,319.28				
							\$41,912.50						
12.	250	SF	NEW CONCRETE STEPS	\$148.40	\$37,100.00	\$167.65	Contractor's Price: \$41,913.39	\$162.61	\$40,652.50				
			NEW 6-INCH UNREINFORCED				\$658.90						
13.	110	SF	CONCRETE PADS FOR BENCHES	\$6.36	\$699.60	\$5.99	Contractor's Price: \$658.64	\$14.26	\$1,568.60				
14	1	EA	NEW WATER FOUNTAIN, WATER SERVICE LINE AND CONNECTION	\$15,900.00	\$15,900.00	\$9,580.20	\$9,580.20	\$26,670.45	\$26,670.45				
							\$7,185.18						
15.	6	MO	SWPPP	\$2,650.00	\$15,900.00	\$1,197.53	Contractor's Price: \$7,185.15	\$1,167.16	\$7,002.96				





BID NO: 2021-0793

BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

DID DA	ITE: FEBRU	AR 1 24, 2	302 1				DEPA	KIWENI. CAPITA	LIMPROVEMENT
				Black Stallion	n Contractors, Inc.		ring & Construction, Inc.	HAWK Construction	
				ELF	Paso, TX	EIP	Paso, TX	Horizon	City, TX
				BIDD	BIDDER 1 OF 6		ER 2 OF 6	BIDDER	3 OF 6
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	SID I				
							\$2,317.70		
16.	215	LF	6-INCH CONCRETE CURB MOWSTRIP	\$10.60	\$2,279.00	\$10.78	Contractor's Price: \$2,317.21		\$2,767.05
			1-1/2-IN ROCK MULCH, 3-IN DEPTH				\$422.50		
17.	130	SF	WITH WEED FABRIC UNDERLAYMENT	\$2.44	\$317.20	\$3.25	Contractor's Price: \$421.89	\$3.15	\$409.50
							\$13,020.00		
18.	700	SF	SYNTHETIC GRASS	\$26.50	\$18,550.00	\$18.60	Contractor's Price: \$13,018.30	\$18.04	\$12,628.00
19.	1	EA	TABLE (3 SEATS)	\$3,392.00	\$3,392.00	\$3,421.33	\$3,421.33	\$4,413.63	\$4,413.63
20.	4	EA	BENCH 6-FT	\$2,120.00	\$8,480.00	\$2,313.62	\$9,254.48	\$1,161.49	\$4,645.96
							\$4,023.68		
21.	8	EA	2-IN CALIPER TREES	\$721.86	\$5,774.88	\$502.96	Contractor's Price: \$4,023.67		\$3,902.56
					4000		\$1,675.62		
22.	87	EA	1-GALLON SHRUBS	\$10.60	\$922.20	\$19.26	Contractor's Price: \$1,719.05		\$1,666.92





BID NO: 2021-0793

BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

BID DA	TE: FEBRU	ARY 24, 2	2021				DEPAR	RTMENT: CAPITA	L IMPROVEMENT
				Black Stallion	n Contractors, Inc.		ring & Construction, Inc.	HAWK Construction	
				EIF	Paso, TX	EIP	aso, TX	Horizon City, TX	
				BIDD	ER 1 OF 6	BIDD	ER 2 OF 6	BIDDEF	R 3 OF 6
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID I				
23.	11,200	SF	TIFWAY HYBRID BERMUDA SOD	\$1.02	\$11,424.00	\$1.14	\$12,768.00 Contractor's Price: \$12,741.67	\$1.10	\$12,320.00
24.	1	LS	IRRIGATION SYSTEM	\$15,900.00	\$15,900.00	\$34,590.52	\$34,590.52	\$33,566.83	\$33,566.83
25.	6	EA	REMOVAL OF EXISTING FIXTURES ON EXISTING POLES AND BRACKETS	\$95.40	\$572.40	\$419.13	\$2,514.78 Contractor's Price: \$2,514.80	\$348.45	\$2,090.70
26.	6	EA	NEW LED LIGHT FISTURES ON EACH POLE AND INSTALLATION	\$901.00	\$5,406.00	\$1,137.65	\$6,825.90 Contractor's Price: \$6,825.89	\$1,393.78	\$8,362.68
			NEW MOUNTING BRACKETS ON BOLES				\$2,395.04		
27.	4	EA	NEW MOUNTING BRACKETS ON POLES FOR BRACKETS	\$450.50	\$1,802.00	\$598.76	Contractor's Price: \$2,395.05	\$464.60	\$1,858.40
			REMOVAL OF EXISTING DIRECT BURIED				\$538.87		
28.	1	EA	CONCRETE 36' POLE AND RE-INSTALL	\$477.00	\$477.00	\$538.87	Contractor's Price: \$538.89	\$2,903.70	\$2,903.70
29.	2	EA	NEW DIRECT BURIED CONCRETE 30 - FT POLE AND INSTALLATION	\$5,406.00	\$10,812.00	\$7,245.03	\$14,490.06	\$8,478.82	\$16,957.64
30.	400	EA	2-IN CONDUIT SCHEDULE 40 FOR LIGHTING	\$2.23	\$892.00	\$5.27	\$2,108.00 Contractor's Price: \$2,107.64	\$17.42	\$6,968.00





BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

BID NO: 2021-0793

BID DA	TE: FEBRU	ARY 24, 2	2021				DEPA	RTMENT: CAPITA	L IMPROVEMENT
				Black Stallion	Contractors, Inc.		ring & Construction, Inc.	HAWK Construction	
					Paso, TX ER 1 OF 6		aso, TX ER 2 OF 6	Horizon City, TX BIDDER 3 OF 6	
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID I	11		l <u> </u>	
							\$216.00		
31.	200	LF	#8 WIRE SIZE	\$0.74	\$148.00	\$1.08	Contractor's Price: \$215.55	\$3.37	\$674.00
				40.00	****	40.00	\$192.00	40.07	4
32.	200	LF	#10 WIRE SIZE	\$0.53	\$106.00	\$0.96	Contractor's Price: \$191.60	\$2.61	\$522.00
	400		TRENCHING (12-IN X 36-IN X LENGTH AS	40.00	<b>***</b> • • • • • • • • • • • • • • • • • •	47.70	\$3,080.00	<b>*</b> 0.07	<b>40 700</b> 00
33.	400	LF	`REQUIRED)	\$6.68	\$2,672.00	\$7.70	Contractor's Price: \$3,080.04	\$6.97	\$2,788.00
					** ***		\$1,077.78		40.000.00
34.	2	LF	IN-GROUND PULLBOXES	\$556.50	\$1,113.00	\$538.89	Contractor's Price: \$1,077.77	\$1,103.41	\$2,206.82
				BASE B	ID 1				
		SUM TO	TAL BASE BID (ITEMS 1 THRU 35)	\$72	8,340.34	\$74	5,003.17	¢779	690.44
		30W 10	TAL BASE BID (ITEMS 1 TIRO 33)	\$73	0,340.34	Contractor's I	Price: \$745,000.00	\$110,	090.44
			MOBILIZATION (NOT TO EXCEED 5%)	\$35	5,440.34	\$37	,250.00	\$35,0	041.07
	SUM TOTAL (BASE BID AND MOBILIZATION)			\$773,780.68		\$782,253.17		\$813,731.51	
	•		,	<b>4</b>		Contractor's Price: \$782.250.00		\$013,731.51	





BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

				EIF	n Contractors, Inc. Paso, TX ER 1 OF 6	EIP	ring & Construction, Inc. aso, TX ER 2 OF 6	Horizon	onstruction City, TX R 3 OF 6
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID II				
1.	1	LS	DEMOLITION OF EXISTING SIDEWALK, CURB AND GUTTER, ETC.	\$10,070.00	\$10,070.00	\$1,929.66	\$1,929.66	\$2,555.47	\$2,555.47
2.	6,410	SY	CLEAR AND GRUB/SITE PREP/EARTHWORK	\$16.03	\$102,752.30	\$2.45	\$15,704.50 Contractor's Price: \$15,716.80	\$0.22	\$1,410.20
3.	6,410	SY	SUBGRADE PREPARATION	\$2.65	\$16,986.50	\$1.84	\$11,794.40 Contractor's Price: \$11,787.60	\$2.31	\$14,807.10
4.	1,030	LF	NEW CURB AND GUTTER	\$19.08	\$19,652.40	\$15.32	\$15,779.60 Contractor's Price: \$15,784.22	\$15.80	\$16,274.00
5.	4,560	SY	NEW 6-IN BASE COURSE	\$6.63	\$30,232.80	\$8.58	\$39,124.80 Contractor's Price: \$39,132.61	\$7.90	\$36,024.00
6.	4,560	SY	NEW HMAC	\$10.60	\$48,336.00	\$15.94	\$72,686.40 Contractor's Price: \$72,674.85	\$11.98	\$54,628.80
7.	540	SF	NEW 6-INCH REINFORCED DRIVEWAYS	\$7.42	\$4,006.80	\$7.36	\$3,974.40 Contractor's Price: \$3,972.11	\$15.02	\$8,110.80
8.	86	LF	STANDARD CURB	\$12.72	\$1,093.92	\$13.49	\$1,160.14 Contractor's Price: \$1,159.76		\$2,056.26





BID NO: 2021-0793

BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

				EIF	n Contractors, Inc. Paso, TX ER 1 OF 6	Gracen Engineering & Construction, Inc. El Paso, TX BIDDER 2 OF 6		HAWK Construction Horizon City, TX BIDDER 3 OF 6	
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	figures) (Quantity x Unit Price) (In Figures) (In Figures) (Use 2 decimals (Use 2 decimals) (Use 2 decimals)		Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID II				
	000	0.5	NEW ADA DAMPO	044.04	<b>#0.050.40</b>	<b>#00.00</b>	\$5,259.80	<b>407.00</b>	<b>\$7.404.00</b>
9.	260	SF	NEW ADA RAMPS	\$14.84	\$3,858.40	\$20.23	Contractor's Price: \$5,259.36	\$27.62	\$7,181.20
10.	4,040	SF	NEW A INOLI OIDEWALK	\$5.30	\$04.440.00	\$5.52	\$22,300.80	ФГ 44	<b>#00 044 40</b>
10.	4,040	5F	NEW 4-INCH SIDEWALK	\$5.30	\$21,412.00	\$5.5∠	Contractor's Price: \$22,287.94	\$5.11	\$20,644.40
11.	1	EA	4-FT WIDE FLUME	\$3,180.00	\$3,180.00	\$2,206.73	\$2,206.73	\$3,936.98	\$3,936.98
12.	8	EA	SIGNS	\$901.00	\$7,208.00	\$612.98	\$4,903.84	\$265.24	\$2,121.92
13.	8	EA	WHEEL STOPS	\$190.80	\$1,526.40	\$122.60	\$980.80 Contractor's Price:	\$108.84	\$870.72
					. ,		\$980.77		
14	1	EA	DESILTING BASIN	\$4,770.00	\$4,770.00	\$919.47	\$919.47	\$2,398.16	\$2,398.16
15.	1	LS	SWPPP	\$14,840.00	\$14,840.00	\$4,903.84	\$4,903.84	\$7,002.97	\$7,002.97



#### **BID TABULATION FORM**



BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

BID NO: 2021-0793

					Black Stallion Contractors, Inc. El Paso, TX BIDDER 1 OF 6		ring & Construction, Inc. aso, TX ER 2 OF 6	HAWK Construction  Horizon City, TX  BIDDER 3 OF 6	
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID II				
16.	1	LS	PAVEMENT MARKINGS	\$424.00	\$424.00	\$6,129.80	\$6,129.80	\$5,807.41	\$5,807.41
17.	1	LS	TRAFFIC CONTROL PLAN	\$14,310.00	\$14,310.00	\$14,711.51	\$14,711.51	\$2,322.97	\$2,322.97
18.	550	LF	6-INCH CONCRETE CURB	\$12.72	\$6,996.00	\$13.49	\$7,419.50 Contractor's Price: \$7,417.05	\$12.87	\$7,078.50
			SCREENINGS 3-IN DEEP WITH WEED				\$2,464.80		
19.	1,580	SF	FABRIC UNDERLAYMENT	\$2.00	\$3,160.00	\$1.56	Contractor's Price: \$2,460.01	\$1.48	\$2,338.40
20.	3,260	SF	1-1/2-IN ROCK MULCH, 3-IN DEPTH WITH WEED FABRIC UNDERLAYMENT	\$1.46	\$4,759.60	\$2.04	\$6,650.40 Contractor's Price: \$6,634.40	\$1.93	\$6,291.80
21.	6,180	SF	4-6-IN ROCK MULCH, 6-IN DEPTH WITH WEED FABRIC UNDERLAYMENT	\$2.57	\$15,882.60	\$1.64	\$10,135.20 Contractor's Price: \$10,152.41	\$1.56	\$9,640.80
22.	1	LS	MINOR GRADING	\$9,010.00	\$9,010.00	\$3,677.88	\$3,677.88	\$7,177.96	\$7,177.96





BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

DEPARTMENT: CAPITAL IMPROVEMENT

BID NO: 2021-0793

				EIF	n Contractors, Inc. Paso, TX ER 1 OF 6	EIP	ring & Construction, Inc. 'aso, TX ER 2 OF 6	Horizon	onstruction City, TX R 3 OF 6
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID II				
23.	31	EA	2-IN CALIPER TREES	\$466.40	\$14,458.40	\$612.98	\$19,002.38 Contractor's Price: \$19,002.37		\$18,002.94
24.	205	EA	5-GAL SHRUBS/UNDERCOVER	\$27.56	\$5,649.80	\$33.10	\$6,785.50 Contractor's Price: \$6,785.68	\$31.36	\$6,428.80
25.	39	EA	1-GAL SHRUBS/UNDERCOVER	\$10.60	\$413.40	\$20.23	\$788.97 Contractor's Price: \$788.90	\$19.16	\$747.24
26.	1	LS	IRRIGATION SYSTEM	\$22,260.00	\$22,260.00	\$32,322.41	\$32,322.41	\$7,177.96	\$7,177.96
27.	3	EA	30-FT SQUARE TAPERED STEEL POLE	\$1,166.00	\$3,498.00	\$1,379.20	\$4,137.60 Contractor's Price: \$4,137.61		\$29,617.80
28.	3	EA	CONCRETE POLE BASE, REBAR, ANCHOR BOLTS	\$848.00	\$2,544.00	\$1,532.45	\$4,597.35	\$46,459.29	\$139,377.87
29.	6	EA	FIXTURE ON POLE WITH BRACKETS	\$874.50	\$5,247.00	\$1,042.07	\$6,252.42 Contractor's Price: \$6,252.39		\$20,906.70
30.	3	EA	INSTALLATION OF POLES AND FIXTURES	\$212.00	\$636.00	\$1,471.15	\$4,413.45	\$17,422.23	\$52,266.69





BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

DEPARTMENT: CAPITAL IMPROVEMENT

BID NO: 2021-0793

BID DATE: FEBRUARY 24, 2021 DEPAI

					Contractors, Inc.		ring & Construction, Inc.		nstruction
				EIF	El Paso, TX		aso, TX	Horizon City, TX	
				BIDDER 1 OF 6		BIDDER 2 OF 6		BIDDER 3 OF 6	
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID II				
31.	700	LF	1/2-IN ELECTRICAL CONDUIT SCHEDULE 40 FOR LIGHTING	\$0.37	\$259.00	\$4.29	\$3,003.00 Contractor's Price: \$3,003.60	\$5.81	\$4,067.00
32.	5	LF	1-1/2-IN ELECTRICAL CONDUIT SCHEDULE 40	\$2.23	\$11.15	\$4.90	\$24.50 Contractor's Price: \$24.52	\$17.42	\$87.10
33.	1,000	LF	#10 WIRE SIZE	\$0.53	\$530.00	\$0.98	\$980.00 Contractor's Price: \$980.77	\$2.61	\$2,610.00
34.	300	LF	#8 WIRE SIZE	\$0.74	\$222.00	\$1.10	\$330.00 Contractor's Price: \$980.77	\$3.48	\$1,044.00
35.	900	LF	TRENCHING (12"X36"X LENGTH REQUIRED)	\$6.63	\$5,967.00	\$7.88	\$7,092.00 Contractor's Price: \$7,094.63		\$3,132.00
36.	1	EA	120V,20A/1P CIRCUIT BREAKER	\$32.86	\$32.86	\$183.89	\$183.89	\$1,742.22	\$1,742.22
37.	5	LF	#1 WIRE SIZE	\$1.86	\$9.30	\$2.33	\$11.65	\$58.07	\$290.35
38.	1	EA	PANEL BOARD 125A MCB, NEMA 3R	\$943.40	\$943.40	\$1,164.66	\$1,164.66	\$3,484.45	\$3,484.45
39.	1	EA	7 DAY ASTRONOMICAL TIME CLOCK	\$1,272.00	\$1,272.00	\$1,539.75	\$1,539.75	\$2,322.97	\$2,322.97
40.	4	EA	120V,20A/1P LIGHTING CONTACTOR	\$477.00	\$1,908.00	\$612.98	\$2,451.92	\$2,903.71	\$11,614.84



#### **BID TABULATION FORM**



	TLE: DICK S		PARK AND SALVADOR RIVAS PARK IMPROVEMENT	S			DEPA		ID NO: 2021-0793 L IMPROVEMENT
<u> </u>	KIE. FEBRO	AIT 24, 2	1	EI F	n Contractors, Inc. Paso, TX ER 1 OF 6	Gracen Engineering & Construction, Inc. EI Paso, TX BIDDER 2 OF 6		HAWK Construction  Horizon City, TX  BIDDER 3 OF 6	
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID II				
41.	1	EA	IN-GROUND PULLBOXES	\$556.50	\$556.50	\$551.68	\$551.68	\$2,322.97	\$2,322.97
42.	1	EA	GROUND ROD	\$26.50	\$26.50	\$55.17	\$55.17	\$3,484.45	\$3,484.45
				BASE B	ID II	11		"	
				\$410,912.03		\$350,506.57 Contractor's Price: \$350,550.00			400.45
		SUM TO	TAL BASE BID (ITEMS 1 THRU 42)					\$531,409.17	
			MOBILIZATION	\$19,723.78		\$17,525.32		\$23,913.41	
			(NOT TO EXCEED 5%)	φισ	5,725.70	Contractor's Price: \$17,528.00		φ23,3	713.41
	0	ТОТА	U. (PAGE BIR II AND MORII IZATION)	<b>*</b> 40	0.005.04	\$368	8,031.89	<b></b>	200 50
	S	UMITOIA	AL (BASE BID II AND MOBILIZATION)	\$43	0,635.81	Contractor's I	Price: \$368,078.00	\$555 <u>,</u>	322.58
	CUM TOTAL BAGE BIR LAND BAGE BIR II		¢4.0	04 446 40	\$1,15	50,285.06	¢4.260	054.00	
	SUM TOTAL BASE BID I AND BASE BID II		\$1,204,416.49		Contractor's Price: \$1,150,328.00		\$1,369,054.09		
	MENTS ACK		GED		YES	YES			ES
BID BO	ND SUBMITT	ED			YES	YES		YES	





BID NO: 2021-0793

BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

				Nahla Carrerra	I Controctoro III C	DEDIKING	mtownwises IIC	Duide Consuel (	Somtwoodown II.C
				Noble Genera	I Contractors, LLC	PERIKINE	nterprises, LLC	Pride General C	Contractors, LLC
				El Paso, TX		Albuquerque, NM		El Paso, TX	
				BIDDER 4 OF 6		BIDD	ER 5 OF 6	BIDDEI	R 6 OF 6
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID I				
1.	13,920	SF	DEMOLITION OF EXISTING CONCRETE, RAMPS, ETC.	\$1.18	\$16,425.60	\$1.43	\$19,905.60	\$1.33	\$18,513.60
2.	2,927	SY	CLEAR AND GRUB/SITE PREP/EARTHWORK	\$7.08	\$20,723.16	\$17.57	\$51,427.39	\$18.30	\$53,564.10
3.	1,060	SY	SUBGRADE PREPARATION	\$3.54	\$3,752.40	\$35.49	\$37,619.40	\$3.63	\$3,847.80
4.	1,060	SY	NEW 6-INCH REINFORCED CONCRETE	\$167.77	\$177,836.20	\$75.90	\$80,454.00	\$108.90	\$115,434.00
5.	162	CY	NEW 6-IN REINFORCED SKATE RAMPS COMPLETE IN PLACE	\$2,339.42	\$378,986.04	\$784.34	\$127,063.08	\$423.50	\$68,607.00
6.	506	LF	NEW PLANTERS	\$139.89	\$70,784.34	\$18.53	\$9,376.18	\$66.55	\$33,674.30
7.	428	LF	NEW HEADER CURB	\$14.16	\$6,060.48	\$14.31	\$6,124.68	\$21.78	\$9,321.84
8.	160	SY	NEW HMAC PATH	\$40.11	\$6,417.60	\$25.30	\$4,048.00	\$43.11	\$6,897.60





	ID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS  ID DATE: FEBRUARY 24, 2021  DEPARTMENT: CAPITAL IMPROVEMENT									
BID DA	TE: FEBRU	ARY 24, 2	2021			<b>I</b>			L IMPROVEMENT	
				Noble Genera	I Contractors, LLC	PERIKIN E	nterprises, LLC	Pride General (	Contractors, LLC	
				EI F	Paso, TX	Albuqı	ıerque, NM	El Pa	so, TX	
				BIDD	ER 4 OF 6	BIDD	ER 5 OF 6	BIDDEI	R 6 OF 6	
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	
				BASE B	ID I					
9.	60	PERCH	NEW ROCK RETAINING WALL INCLUDING FOOTINGS	\$815.97	\$48,958.20	\$392.17	\$23,530.20	\$272.25	\$16,335.00	
10.	7	CY	NEW CONCRETE BENCHES	\$943.78	\$6,606.46	\$500.35	\$3,502.45	\$363.00	\$2,541.00	
11.	58	LF	NEW BRINDING RAILS	\$125.70	\$7,290.60	\$83.21	\$4,826.18	\$145.20	\$8,421.60	
12.	250	SF	NEW CONCRETE STEPS	\$334.52	\$83,630.00	\$9.00	\$2,250.00	\$42.35	\$10,587.50	
13.	110	SF	NEW 6-INCH UNREINFORCED CONCRETE PADS FOR BENCHES	\$5.90	\$649.00	\$7.73	\$850.30	\$7.26	\$798.60	
14	1	EA	NEW WATER FOUNTAIN, WATER SERVICE LINE AND CONNECTION	\$4,129.03	\$4,129.03	\$4,919.17	\$4,919.17	\$12,100.00	\$12,100.00	
15.	6	МО	SWPPP	\$983.10	\$5,898.60	\$281.17	\$1,687.02	\$726.00	\$4,356.00	





BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

BID NO: 2021-0793

				Noble General Contractors, LLC		PERIKIN Enterprises, LLC		Pride General Contractors, LL	
				EI F	El Paso, TX		ierque, NM	El Paso, TX	
			BIDD	ER 4 OF 6	BIDDI	ER 5 OF 6	BIDDEF	R 6 OF 6	
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID I				
16.	215	LF	6-INCH CONCRETE CURB MOWSTRIP	\$17.70	\$3,805.50	\$13.72	\$2,949.80	\$15.73	\$3,381.95
17.	130	SF	1-1/2-IN ROCK MULCH, 3-IN DEPTH WITH WEED FABRIC UNDERLAYMENT	\$1.59	\$206.70	\$3.23	\$419.90	\$1.51	\$196.30
18.	700	SF	SYNTHETIC GRASS	\$11.80	\$8,260.00	\$35.14	\$24,598.00	\$6.05	\$4,235.00
19.	1	EA	TABLE (3 SEATS)	\$3,254.86	\$3,254.86	\$3,155.65	\$3,155.65	\$2,662.00	\$2,662.00
20.	4	EA	BENCH 6-FT	\$1,408.59	\$5,634.36	\$1,855.44	\$7,421.76	\$1,089.00	\$4,356.00
21.	8	EA	2-IN CALIPER TREES	\$324.42	\$2,595.36	\$955.83	\$7,646.64	\$423.50	\$3,388.00
22.	87	EA	1-GALLON SHRUBS	\$21.24	\$1,847.88	\$14.06	\$1,223.22	\$12.10	\$1,052.70





BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS BID NO: 2021-0793

BID DA	TE: FEBRU	ARY 24, 2	2021				DEPA	RTMENT: CAPITA	L IMPROVEMENT
				Noble Genera	l Contractors, LLC	PERIKIN E	nterprises, LLC	Pride General (	Contractors, LLC
				EI F	Paso, TX	Albuqı	uerque, NM	El Pa	so, TX
				BIDD	ER 4 OF 6	BIDD	ER 5 OF 6	BIDDEI	R 6 OF 6
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID I				
23.	11,200	SF	TIFWAY HYBRID BERMUDA SOD	\$1.00	\$11,200.00	\$3.49	\$39,088.00	\$2.42	\$27,104.00
24.	1	LS	IRRIGATION SYSTEM	\$17,105.98	\$17,105.98	\$20,908.79	\$20,908.79	\$16,637.50	\$16,637.50
25.	6	EA	REMOVAL OF EXISTING FIXTURES ON EXISTING POLES AND BRACKETS	\$1,380.88	\$8,285.28	\$497.97	\$2,987.82	\$129.92	\$779.52
26.	6	EA	NEW LED LIGHT FISTURES ON EACH POLE AND INSTALLATION	\$1,380.88	\$8,285.28	\$1,335.35	\$8,012.10	\$1,075.42	\$6,452.52
27.	4	EA	NEW MOUNTING BRACKETS ON POLES FOR BRACKETS	\$888.99	\$3,555.96 Contractor's Price: \$4,216.19	\$702.82	\$2,811.28	\$469.40	\$1,877.60
28.	1	EA	REMOVAL OF EXISTING DIRECT BURIED CONCRETE 36' POLE AND RE-INSTALL	\$7,078.34	\$7,078.34	\$632.53	\$632.53	\$486.61	\$486.61
29.	2	EA	NEW DIRECT BURIED CONCRETE 30 - FT POLE AND INSTALLATION	\$767.86	\$1,535.72	\$8,504.08	\$17,008.16	\$6,754.41	\$13,508.82
30.	400	EA	2-IN CONDUIT SCHEDULE 40 FOR LIGHTING	\$1.86	\$744.00	\$6.18	\$2,472.00	\$4.63	\$1,852.00





BID NO: 2021-0793 BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS BID DATE: FEBRUARY 24, 2021 **DEPARTMENT: CAPITAL IMPROVEMENT** Noble General Contractors, LLC **PERIKIN Enterprises, LLC** Pride General Contractors. LLC El Paso, TX Albuquerque, NM El Paso, TX **BIDDER 4 OF 6 BIDDER 5 OF 6** BIDDER 6 OF 6 **Total Amount Total Amount Total Amount** Unit Bid Price (In Unit Bid Price (In Unit Bid Price (In (Quantity x Unit (Quantity x Unit Price) (Quantity x Unit Price) Item **Estimated** figures) figures) figures) Price) (In Figures) (In Figures) **Brief Description of Item** Unit Quantity Use 2 decimals No. Use 2 decimals Use 2 decimals (In Figures) Use 2 decimals Use 2 decimals Do Not Round Use 2 decimals Do Not Round **BASE BID I** LF 31. 200 #8 WIRE SIZE \$0.50 \$100.00 \$1.27 \$254.00 \$3.04 \$608.00 LF 32. 200 #10 WIRE SIZE \$0.71 \$142.00 \$1.12 \$224.00 \$2.30 \$460.00 TRENCHING (12-IN X 36-IN X LENGTH AS LF 33. 400 \$2.81 \$1.124.00 \$9.04 \$3.616.00 \$11.57 \$4.628.00 REQUIRED) 34. 2 LF **IN-GROUND PULLBOXES** \$887.91 \$1,775.82 \$632.53 \$1,265.06 \$1,023.18 \$2,046.36 **BASE BID 1** \$524,278.36 **SUM TOTAL BASE BID (ITEMS 1 THRU 35)** \$924,684.75 \$460,712.82 Contractor's Price: \$525,684.00 **MOBILIZATION** \$35,000.00 \$16,948.46 \$18,428.51 (NOT TO EXCEED 5%) \$541,226.82 **SUM TOTAL (BASE BID AND MOBILIZATION)** \$959,684.75 \$479,141.33 Contractor's Price: \$542,632.46





BID NO: 2021-0793

BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

	DEL AKTIMENT. OALTAE IIII KOVEINENT								
				Noble Genera	l Contractors, LLC	PERIKIN E	nterprises, LLC	Pride General (	Contractors, LLC
				El Paso, TX		Albuquerque, NM		El Paso, TX	
				BIDD	ER 4 OF 6	BIDD	ER 5 OF 6	BIDDEF	R 6 OF 6
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID II				
1.	1	LS	DEMOLITION OF EXISTING SIDEWALK, CURB AND GUTTER, ETC.	\$2,265.75	\$2,265.75	\$12,543.56	\$12,543.56	\$16,940.00	\$16,940.00
2.	6,410	SY	CLEAR AND GRUB/SITE PREP/EARTHWORK	\$2.52	\$16,153.20	\$16.50	\$105,765.00	\$6.20	\$39,742.00
3.	6,410	SY	SUBGRADE PREPARATION	\$1.89	\$12,114.90	\$11.22	\$71,920.20	\$3.03	\$19,422.30
4.	1,030	LF	NEW CURB AND GUTTER	\$17.62	\$18,148.60	\$19.81	\$20,404.30	\$22.39	\$23,061.70
5.	4,560	SY	NEW 6-IN BASE COURSE	\$8.81	\$40,173.60	\$16.83	\$76,744.80	\$7.53	\$34,336.80
6.	4,560	SY	NEW HMAC	\$16.36	\$74,601.60	\$20.47	\$93,343.20	\$11.99	\$54,674.40
7.	540	SF	NEW 6-INCH REINFORCED DRIVEWAYS	\$6.23	\$3,364.20	\$11.22	\$6,058.80	\$8.59	\$4,638.60
8.	86	LF	STANDARD CURB	\$16.36	\$1,406.96	\$15.18	\$1,305.48	\$15.73	\$1,352.78





BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

BID NO: 2021-0793

BID DA	ATE: FEBRU	ARY 24, 2	2021				DEPAR	RTMENT: CAPITA	L IMPROVEMENT
				EI F	Noble General Contractors, LLC El Paso, TX BIDDER 4 OF 6		PERIKIN Enterprises, LLC Albuquerque, NM BIDDER 5 OF 6		Contractors, LLC so, TX R 6 OF 6
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID II				
9.	260	SF	NEW ADA RAMPS	\$22.27	\$5,790.20	\$7.26	\$1,887.60	\$32.67	\$8,494.20
10.	4,040	SF	NEW 4-INCH SIDEWALK	\$5.85	\$23,634.00	\$5.28	\$21,331.20	\$6.05	\$24,442.00
11.	1	EA	4-FT WIDE FLUME	\$755.25	\$755.25	\$2,442.67	\$2,442.67	\$4,477.00	\$4,477.00
12.	8	EA	SIGNS	\$188.81	\$1,510.48	\$330.09	\$2,640.72	\$363.00	\$2,904.00
13.	8	EA	WHEEL STOPS	\$151.05	\$1,208.40	\$112.32	\$898.56	\$121.00	\$968.00
14	1	EA	DESILTING BASIN	\$944.06	\$944.06	\$2,984.02	\$2,984.02	\$5,808.00	\$5,808.00
15.	1	LS	SWPPP	\$5,035.00	\$5,035.00	\$264.07	\$264.07	\$6,050.00	\$6,050.00





**DEPARTMENT: CAPITAL IMPROVEMENT** 

BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

BID NO: 2021-0793

BID DATE: FEBRUARY 24, 2021

				Noble Genera	I Contractors, LLC	PERIKIN EI	nterprises, LLC	Pride General (	Contractors, LLC
				EI Paso, TX BIDDER 4 OF 6		Albuquerque, NM BIDDER 5 OF 6		El Paso, TX BIDDER 6 OF 6	
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Rid Price (In	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID II				
16.	1	LS	PAVEMENT MARKINGS	\$4,405.62	\$4,405.62	\$24,030.62	\$24,030.62	\$5,808.00	\$5,808.00
17.	1	LS	TRAFFIC CONTROL PLAN	\$6,293.75	\$6,293.75	\$594.16	\$594.16	\$3,630.00	\$3,630.00
18.	550	LF	6-INCH CONCRETE CURB	\$12.59	\$6,924.50	\$17.82	\$9,801.00	\$15.73	\$8,651.50
19.	1,580	SF	SCREENINGS 3-IN DEEP WITH WEED FABRIC UNDERLAYMENT	\$1.07	\$1,690.60	\$1.65	\$2,607.00	\$0.97	\$1,532.60
20.	3,260	SF	1-1/2-IN ROCK MULCH, 3-IN DEPTH WITH WEED FABRIC UNDERLAYMENT	\$1.70	\$5,542.00	\$1.82	\$5,933.20	\$1.51	\$4,922.60
21.	6,180	SF	4-6-IN ROCK MULCH, 6-IN DEPTH WITH WEED FABRIC UNDERLAYMENT	\$2.20	\$13,596.00	\$3.23	\$19,961.40	\$1.82	\$11,247.60
22.	1	LS	MINOR GRADING	\$1,258.75	\$1,258.75	\$2,376.13	\$2,376.13	\$2,420.00	\$2,420.00





BID NO: 2021-0793

BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

ים טוט	D DATE: FEBRUARY 24, 2021 DEPARTMENT: CAPITAL IMPROVEMENT									
				Noble Genera	l Contractors, LLC	PERIKIN E	nterprises, LLC	Pride General (	Contractors, LLC	
				El Paso, TX		Albuquerque, NM		El Paso, TX		
				BIDDER 4 OF 6		BIDD	ER 5 OF 6	BIDDE	R 6 OF 6	
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	
				BASE B	ID II					
							\$13,323.49			
23.	31	EA	2-IN CALIPER TREES	\$346.16	\$10,730.96	\$429.79	Contractor's Price: \$12,893.70	\$423.50	\$13,128.50	
24.	205	EA	5-GAL SHRUBS/UNDERCOVER	\$31.47	\$6,451.35	\$33.34	\$6,834.70	\$36.30	\$7,441.50	
25.	39	EA	1-GAL SHRUBS/UNDERCOVER	\$22.66	\$883.74	\$13.20	\$514.80	\$12.10	\$471.90	
26.	1	LS	IRRIGATION SYSTEM	\$21,398.74	\$21,398.74	\$23,964.60	\$23,964.60	\$18,149.84	\$18,149.84	
27.	3	EA	30-FT SQUARE TAPERED STEEL POLE	\$7,300.75	\$21,902.25	\$1,485.41	\$4,456.23	\$1,366.55	\$4,099.65	
28.	3	EA	CONCRETE POLE BASE, REBAR, ANCHOR BOLTS	\$849.66	\$2,548.98	\$726.20	\$2,178.60	\$1,815.00	\$5,445.00	
29.	6	EA	FIXTURE ON POLE WITH BRACKETS	\$886.54	\$5,319.24	\$1,122.31	\$6,733.86	\$1,022.33	\$6,133.98	
30.	3	EA	INSTALLATION OF POLES AND FIXTURES	\$3,668.28	\$11,004.84	\$1,584.44	\$4,753.32	\$324.28	\$972.84	





BID TITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS

BID NO: 2021-0793

				Noble General Contractors, LLC		PERIKIN Enterprises, LLC		Pride General Contractors, LLC	
				El Paso, TX		Albuquerque, NM		El Paso, TX	
				BIDD	ER 4 OF 6	BIDD	ER 5 OF 6	BIDDEI	R 6 OF 6
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
				BASE B	ID II				
31.	700	LF	1/2-IN ELECTRICAL CONDUIT SCHEDULE 40 FOR LIGHTING	\$0.28	\$196.00	\$4.62	\$3,234.00	\$2.90	\$2,030.00
32.	5	LF	1-1/2-IN ELECTRICAL CONDUIT SCHEDULE 40	\$1.99	\$9.95	\$5.28	\$26.40	\$4.56	\$22.80
33.	1,000	LF	#10 WIRE SIZE	\$0.34	\$340.00	\$1.06	\$1,060.00	\$2.30	\$2,300.00
34.	300	LF	#8 WIRE SIZE	\$0.53	\$159.00	\$1.19	\$357.00	\$3.04	\$912.00
35.	900	LF	TRENCHING (12"X36"X LENGTH REQUIRED)	\$3.00	\$2,700.00	\$8.49	\$7,641.00	\$11.33	\$10,197.00
36.	1	EA	120V,20A/1P CIRCUIT BREAKER	\$31.58	\$31.58	\$198.05	\$198.05	\$31.05	\$31.05
37.	5	LF	#1 WIRE SIZE	\$2.68	\$13.40	\$2.51	\$12.55	\$8.37	\$41.85
38.	1	EA	PANEL BOARD 125A MCB, NEMA 3R	\$1,105.28	\$1,105.28	\$1,254.35	\$1,254.35	\$1,239.33	\$1,239.33
39.	1	EA	7 DAY ASTRONOMICAL TIME CLOCK	\$151.05	\$151.05	\$1,716.10	\$1,716.10	\$1,297.22	\$1,297.22
40.	4	EA	120V,20A/1P LIGHTING CONTACTOR	\$58.53	\$234.12	\$660.15	\$2,640.60	\$575.28	\$2,301.12







BID TI	FITLE: DICK SHINAUT PARK AND SALVADOR RIVAS PARK IMPROVEMENTS  BID NO: 2021-0793								
BID DA	TE: FEBRU	ARY 24, 2	2021				DEPAI	RTMENT: CAPITA	L IMPROVEMENT
				Noble General Contractors, LLC El Paso, TX BIDDER 4 OF 6		PERIKIN Enterprises, LLC Albuquerque, NM BIDDER 5 OF 6		Pride General Contractors, LLC El Paso, TX BIDDER 6 OF 6	
Item No.	Estimated Quantity	Unit	Brief Description of Item	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round	Unit Bid Price (In figures) Use 2 decimals Do Not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals Do Not Round
	BASE BID II								
41.	1	EA	IN-GROUND PULLBOXES	\$946.63	\$946.63	\$594.16	\$594.16	\$1,023.18	\$1,023.18
42.	1	EA	GROUND ROD	\$32.69	\$32.69	\$59.42	\$59.42	\$128.33	\$128.33
	<u>.                                      </u>			BASE B	ID II	"		1	
		SUM TO	TAL BASE BID (ITEMS 1 THRU 42)	\$332,977.22		\$567,390.92		\$362,891.17	
		SUM TO	TAL BASE BID (ITEMS I THRU 42)	<b>\$33</b> .	2,911.22	Contractor's Price: \$566,961.13		Contractor's Price: \$362,891.1	
			MOBILIZATION (NOT TO EXCEED 5%)	\$15,000.00		\$15,878.46		\$14,515.65	
		LIM TOTA	AL (DASE DID II AND MODII IZATION)	¢2.4	7 077 22	\$583	3,269.38	\$377,	406.82
	SUM TOTAL (BASE BID II AND MOBILIZATION)			\$347,977.22		Contractor's Price: \$582,839.59		Contractor's Pr	rice: \$377,406.82
	SUM TOTAL BASE BID I AND BASE BID II		\$1.30	7 661 97	·	24,496.20	\$856,548.15		
				\$1,307,661.97		Contractor's Price: \$1,125,472.05			
	IENDMENTS ACKNOWLEDGED			YES		YES		YES	
סוט פט	ND SUBMITT	CU			YES	YES		YES	

# **View List**

# 2021-0793 Dick Shinaut and Salvador Rivas Park Improvements

	Name	Company
1	Stribling, Sam	814 Solutions Seedin
2	Gallegos, Mari	Abescape
3	Ayala, Aguaybana	Aguyabana Kazuhito A
4	Allen, Miguel	Allen Concrete, Inc.
5	Pena, Lorenzo	Alpine Electric
6	Gomez, Priscilla	American Pavement Pr
7	Rugh, John	AMTEK
8	martinez, ryan	ARS landscaping corp
9	Apodaca Jr, Victor D	Ask Vic LLC
10	Marcum, TJ	AstroTurf
11	Shane, Coler	Aztec Contractors
12	Stresow, Adrian	Banes General Contra
13	Guardado, Carlos	Best Ironworks
14	Bid, Judge	BidJudge.com
15	Luna, Hector	Black Stallion Contr
16	Issa, Raul	Brock And Bustillos
17	Caballero, Luis	Caballero Electric C
18	Concha, David	CEA Group
19	Damek, Mitch	Champion Fuel Soluti
20	Stanton, John	Civil Scape
21	comaduran, richard	comaduran constructi
22	Kyle, Bellomy	ConstructConnect
23	Gibson, Patty	construction Bid Sou
24	Exton, Pamela	Construction Journal
25	Wood, Jane	Construction Reporte
26	Edwards, Bill	Contech
27	Deg, Maria	Contractors Register
28	Oney, Hilary	CSA Constructors
29	Mondello, Shannon	Dantex General Contr
30	HARRISON, MIKE	DEL MAR CONTRACTING,
31	Delgado, Alberto	Delgado's Repair
32	Management, Source	Deltek
33	Hudson, Brad	Direx Construction,
34	Peggy, Koehn	Dodge Data
35	Soto, Daniel	DRS Rock Materials,
36	Ragan, Bill	DUGOUTS USA
37	Erick, Osorio	ecoReach, Inc.
38	Soto, Lorena	El Paso Sanitation S
39	Jaramillo, Jorge	Fulcrum Contracting
40	Banks, Archie	Globe Builders, LLC
41	Gomez, Jesu	Gomez Concrete

# **View List**

# 2021-0793 Dick Shinaut and Salvador Rivas Park Improvements

	Name	Company
42	Sambrano, Michael	Gracen Eng. And Cons
43	Jorge, Ojeda	HAWK
44	Mulligan, Matthew	HB Construction
45	Maldonado, Mariana	Horizone Constructio
46	Balai, Rakesh	i- Sourcing Technolo
47	Espino, Ruben	IQP CANOPIES LLC
48	Concha, Joe	Iron Horse Electrica
49	Crossland, Randal	Jace Contracting Ser
50	Soto, Mauro	JMR Demolition
51	Lowrance, Gloria	Jobe Materials, L.P.
52	Puente, Ed	Kraftsman Commercial
53	LAC, Construction	LAC Construction
54	Naranjo, Lizandro	Lizandro Naranjo
55	Gonzalez, Ruben	Lomeli and sons Land
56	oscar, morales	Long Term Capital LL
57	GUTIERREZ, MANNY	MANNY'S LANDSCAPE AN
58	Gonzalez, Rene	Martinez Bros. Contr
59	martinez, avelardo	martinez irrigation
60	matyear, william	matco
61	Tanzy, Russell	Mesa electrical cont
62	Lopez, Jose	Mirador
63	Assad, Danny	Moreno Cardenas Inc.
64	Ortiz, Cano	Mr.
65	Drapes, Michael	MTI Ready Mix
66	Nevarez, Christy	Noble General Contra
67	Lopez, Rafael	Perikin Enterprises,
68	Lira, Gabriel	pest control crew
69	Regalado, Peter	Phoenix General Cont
70	Salgado, Ramon	Pride General Contra
71	Ortiz, Lupe	Prime Irrigation And
72	Jones, Kim	Prime Vendor Inc.
73	Morris, Bryan	RBM Engineeering, In
74	colmenero, robert	rc enterprises inc
75	Ramirez, Mario	Rinker Materials
76	Sifuentes, Silvia	Roman Construction
77	Bjornsson, Ron	Smartprocure
78	ALLEN, STEVE	SPARTAN CONSTRUCTION
79	Onel, Vincent	Spohn Ranch Skatepar
80	Yahve, Gallegos	Star Pavers Construc
81	Beardshear, Jake	T.F. Harper
82	Walling, Allison	The Office of James

# View List

# 2021-0793 Dick Shinaut and Salvador Rivas Park Improvements

	Name	Company
83	Hernandez, Cecilia	The Planit Room
84	Popenoe, Jeff	The PlayWell Group,
85	Diaz, Christian	TIA Facility Service
86	romero, ron	triple m recreation
87	Ruiz, Erika	Vertex Contractors,
88	Olguin, Jeannette	Vitual Builders Exch
89	Austin, Fork	Wayne Enterprises
90	Garcia, Mark	Win Supply
91	Acosta, German	Zayza Irrigation And
92	Martinez, Jessica	
93	Hernandez, Alberto	
94	Watson, Frank	
95	Banquil, Lovely	
96	Reyes, Yesenia	